Notes: Law of Universal Gravitation
Discovered by Newton:

· Realized that gravity must be the force to keep the moon in orbit around the earth. (also sun-earth orbit)

Gravitational Forces exist between all objects that have mass.  Depends on:

· Distance between the two objects

· Mass of the two objects

Gravity is a weak force so until you get to masses the size of planets this force is not noticeable.
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G is the gravitational constant and is always: G = 6.67 x 10-11
This equation tells us that:

· Force of gravity is proportional to the mass of each object.  As the mass gets larger the force of gravity gets larger.  Example:  Jupiter has more gravity than earth, the moon has less.

· Force of gravity is inversely proportional to the distance between the two objects.  As the distance increases the gravity decreases.  Example:  I feel less gravity from the moon than the earth because I am closer to the center of the earth.
· The distance (radius from center of planet) has a greater impact on gravity because it is squared in the formula.

If I went up in a spaceship and was twice as far from the center of the earth, what would be the force of gravity?

If the moon were to suddenly triple in mass, how would the gravity change?
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